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Part 1 Listening Comprehension (15 minutes) . ST

Directions: This part is to test your listening ability. It consists of 3 sections.

Section A

Directions: This section is to test your ability to understand short dialogues.
There are 5 recorded dialogues in it. Afier each dialogue, there is a recorded

question. The dialogues and questions will be spoken only once. When you .

hear a question, you should decide on the correct answer from the 4 choices
marked A), B), C) and D) given in your test paper. Then you should mark the

corresponding letter on the A nswer Sheet with a single line through the center.

Example: You will hear:

You will read: A) New York City.
B) An evening party.
C) An air trip.
D) The man’s job.

From the dialogue we learn that the man is to take a flight to New York. .

Therefore, C) An air trip is the correct answer. You should mark C) on the An-

swer Sheet.

Now the test will begin.

1. A) A supermarket.
B) A drug store.
C) A department store.
D) A car repair shop.

2. A) $25.
B) $24.
C) $4.
D) $5.
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3. A) She was caught in a rain.
B) She fell ill.
C) She said that she’d come later.
D)-She decided to stay home.

4. A) Mike got a bargain.
B) John bought a new car.
C) Mike bought a new car.
D) Mike is a car agent.

5. A) You can fill in the spaces under the questions.
B) You can ask me at most three questions.
C) You may ask questions if you want.

D) Please tell me when you are free.

Section B

Directions: This section is to test your ability to understand short conver-
sations. There are 2 recorded conversations in it. Afier each conversation,
there are some recorded questions. The conversations and questions will be
spoken only once. When you hear a question, you should decide on the cor-
rect answer from the 4 choices A), B ), C) and D) given in your test paper.
Then you should mark the corresponding letter on the Answer Sheet with
a single line through the centre.

Conversation 1

6. A) Fried chicken with green beans, mashed potatoes and dessert.
B) Apple, ice cream and soup.
C) Soup, crackers and green beans.
D) Fried chicken, soup and apple.

7. A) The woman will be on a diet tomorrow.
B) The woman will never be really on a diet.
C) The woman is on a diet now.

D) The woman has been on a diet.

Conversation 2

8. A) He wants the doctor to look at his mouth.
B) He wants the doctor to look at his eyes.
C) He wants the doctor to look at his face.
D) He wants the doctor to look at his teeth.

L4 3 [ERIB [ERIRRXEE
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caught a cold 8 T %038 Joan &
RNRABLRS o
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[ﬁﬁ]*@%?ﬁlﬁﬁf’\)\g‘
PREXTE, RGEMIE |
get a good deal on it (B IKAY
TR F)H] get a bargain B
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A
9. A) The doctor is not at the office. V49 [¥RID [(FRIATE
B) The doctor doesn’t want to see him. (M IEENESCRAAT,
. PLEREAEE RN ELMER,

C) The doctor is busy writing an appointment book.

D) The doctor has been fully engaged.

10. A) His diseased teeth.
B) His false teeth.
C) His healthy teeth.
D) His gold-crowned teeth.

Section C

Directions: This section is to test your ability to comprehend short passages.
You will hear a recorded passage. After that you will hear 5 questions. The
passage will be spoken two times. When you hear a question, you should com-

plete the answer to it with a word or a short phrase. The incomplete answers

are printed in your test paper. You should write you answers on the Answer .

Sheet. Now this is the passage.

11. What kind of places are hotel bars?

Hotel bars are in the United States.

12. What are you often asked to do while waiting for a table in a restaurant?

You are often asked to at the bar.

13. What do people believe about drinking too much?

They believe too much drink will ___like heart attack.

14. What do recent studies show?
No more than three drinks a day may significantly of a heart

attack.

fully engaged 72 appointment book
is filled NEM,

10. ({#%]B [¥K]ATE

(R AL EEEDRES

(4057 134 96 4 0 i S AR 044
B0 I — B, K i
S ARM, AR,
M, A~ AR

ERAERE RZHEIE, R

TEGBEREHAREL, KT

EEMBEETEEK,

11. [ %% Jcommon meeting places

(#R]ETE
(W47 ] %3 1 13 Hotel bars
are common‘meeting places in the

United States,

12. [# % Jhave a drink

(%R )BTE
[M47 178X E 2 D You are often
asked to have a drink at the bar,

13. [ % % ]lead to diseases

(%R )BTE
[ W47 ) SCEE 2 BB 2 13 They
believe too much drink will lead

to diseases like heart attack,

14, [ % % }decrease your risk

(2R )BTE

(WiF] ENE2BEITNo
more than three drinks a day
may significantly decrease your
risk of a heart attack,
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15. Who have higher blood pressure than moderate drinkers?

Part 1I

Directions: This part is to test your ability to construct grammatically

Both total and

have higher blood pressure.

Structure

correct sentences. It consists of 2 sections.

Section A

Directions: In this section, there are 10 incomplete sentences. You are
required to complete each one by deciding on the most appropriate word

or words from the 4 choices marked A), B), C) and D) given in your test
paper. Then you should mark the corresponding letter on the Answer Sheet

with a single line through the centre.

16.

17.

18.

19.

I don’t like either of the two pens. Please show me
A) the other

B) other one

C) one another

D) another

Please retell the story you have just heard
A) in

B) with

C) by

D) through

You should make every to do your work well.

A) affect
B) effect
C) afford
D) effort

He was very tired. He could hardly stand up, let alone
A) to walk

B) walk

C) walking

D) walked fast

(15 minutes)

your own words.

15. [# % |heavy drinkers
[(ER)EXATHE
[#H7 JERG—1 ... lower
blood pressure than both tatal

and heavy drinkers,

[HBR] XHEoMAEEbR Y
A, CHHPEFSMRA,

[RR]EHHILE0ARLE
HaF ARSI ATk
MARAER FESMKLA Y
RAS LG FEN DS,

16. [Z¥R]D [®x]FEfD
[#R 47 ) REH1T another BN
‘B, RTOBEFR,

17. [BR]A [FR]ME
(R4 | KEPBEMT in &
REHABSHE, W say in
English/Chinese,

—
=]

[EFR]D [Ex]|EEER
[#B47] effort 877,77 ;make
(every) effort to do sth.R—1])
BNWEE,

19. [¥R]B [ER]IER
[#847 let alone ZEFTETDEK
AR, BRAERT, B8
PERE,.
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20.

21,

22.

23.

24.

25.

She has

A) too much
B) so many
C) so much

D) much more

You the reference books to the library yesterday, the students

needed them badly.

A) must return

work to do today that she can’t come to the party.

B) should have returned

C) ought to return
D) can have return

Hardly
A) did she close

the door when the wind blew it open.

B) she was going to close

C) she had closed
D) had she closed

The telephone had been ringing for several minutes before it

A) answered
B) had been answered
C) was answered

D) is answered

But for your help, we
A) have to finish

B) are sure to finish

the important job in time.

C) should not have finished
D) should have finished

A) If I received

B) If I have received
C) Should receive
D) Had I received

your proposal, I would have given you an answer two days ago.

e | A1 L1 -1 i s Rl

20

21.

22.

2.

24.

25.

[BR]C [#R)FTHEE
[#8#7 ]so... that..S|BRRER
BWREMEY ,much BITART
25 work,

[BRIB [EXR]EMES

[ 8847 Jshould + have + I X7}
BRI S AEMZ Tk &
i

[¥R)D [#K]EROD

[ #84f Jhardly ..when ..7&R Q-
o, SRTEERNDE
1B hardly 2B &8, EREE
BB,

(B¥R]C [®R)EDIT

[ 47 JEEE PR ITERIE R “ans-
wer the telephone”, [t &M
BB,

[BRIC [FX]EBIMES
[ #8847 Jbut for = without, AT

SERIES  RANEEE BN

B¢, Bt F %A should+
have + XN,

(#R]D [®KR]EMES
(W4 AR B if VBRI
#9, AERANAT, RO
F (07 were, had, should FE)
i3, TEENFRH T DR
if &, T were, had, should
RYFEAE, Pifk,
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Section B

Directions: There are 10 incomplete statements here. You should fill in each
blank with the proper form of the word given in the brackets. Write
the word .or words in the corresponding space on the Answer Sheet.

26. None of those representatives (have) any further remarks to

make, the chairman closed the meeting.

27. Do you think they (go) to the bank in that bus Monday when
the accident happened?

28. Like most artists, he is at heart a scientist devoted to (discover)
how things and people work.

29. She came to China because she (hear) so much about the

beautiful country.

30. If Mr. White had not had two heart attacks, he (work) now.

31. It is important not to (understand) what I'm telling you; oth-

erwise you can’t do it correctly.

Nadashah di 20 28 S S s Jb
[

[RR] BRI XHW0ARESE

BT, FREFARAGES
BRAAETHLE,

26. [ # % having

[ERPETER

[W 47 JA B ENIRIIS
8, 32ENSBTESTF
BEBA—HY, HETHE
BCHEE, RMBTENS
RN THAMIT S, T
DPHRE, ®RRNERR,
F;HE,

27. [#% Jhad gone
(%K ]E0ENS
(B4 | FABEDANT R
ENGIEE go OIERYE
ENEREMNDIEIE hap-
pen 28, BB SR

28. [ % % ]discovering
(X NSCHE
[ M7 Jdevote 1o ZRR T, B 5
F.o BMA, GERBER
B,

29. {# % ]had heard
[#x 23S
[ W47 | BB  because
MOWEER £ E X O
281, sha AN ERMN .

30. [# % Jwould be working
[ R )ERES
[R#] OB TELBS.
FRHEORTNBIYENE
®], M had + SEDIEH,
MEORENENRGER,
[F8 would + FIFRE,

3

oy

. [ %% Jmisunderstand
[ERINESTE
(W47 IREE S, BT EONAN
SUPH not BHANESE,
RIBE, B, understand f
M ERE mis-BWENER
.,

¢
¢
4
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32. My sister or my brother (be) likely to be at home now.

33.

to the new scientific discoveries to industrial

The(apply)

processes usually makes jobs easier to do.

34. 1 won’t be (comfort) until I know what happened.

35. Every body said I would get (kill) if tried to sail round the world
on my own.
Part 111 Reading Comprehension (40 minutes)

Directions: This part is to test your reading ability. There are 5 tasks for .

you to fulfill. You should read the reading materials carefully and do the tasks

as you are instructed.

Task 1

Directions: Afier reading the following passage, you will find 5 questions
or unfinished statements, numbered 36 through 40. For each question or state-
ment there are 4 choices marked A), B), C) and D). You should make the
correct choice and mark the corresponding letter on the Answer Sheet with

a single line through the centre.

Juggling (% %) could be simpler than a game of catch. But just add
another ball or two and the game turns magical—the juggled balls take on
a life of their own. Suddenly, simple motions and common objects blur into
one stunning display after another.

In recent years, juggling has experienced a renaissance (X ). Street

performers and skilled amateurs are practicing the ancient art in parks, .

32. [#R]is [BR)EEH
(R JEREEEE K, or
EBMTRYEBHBES, R
N CEEX—T, HAEH—-
™0 Bt BBFIBARY
i7"

33. [# % Japplication
(ZRPIREY
(B XFEBIMCIE
ENERE,BEM apply O
ZERR.

34, [% R Jcomfortable
€ F-9h=lcz i
[ ) EAEEIM T, B
FBIRHBEM comfort NEB
BER.

35. [ % % )killed
(%R RDEDS
(W47 | XA EERDIES ., be
(get) killed BB "BRRHK",

[RE]xHHABRES, &
EEARSAMES, kFmA ik
¥ ABRELEH,

(RR]ARTRIELERS,#
PERIERIEELEI:ES B
FEEMBE LR S WA S AL
FHHFS,

[RBER )&% 2 —-BLAL, A
BT RARR-THXHERNAR
PRIEIAHAL,
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backyards and on campuses around the globe. Membership in the amateur
International Jugglers’ Association (IJA) has more than doubled since
1979. .

Juggling is actually 4, 000 years young. In Egypt, Asia and the America, |
it was once associated with religious ritual. In medieval Europe, wander-
ing minstrels (% ##F A) often juggled; the very term derives from these jon-
gleurs.

Amazing jugglers imported from the Orient—in particular the “East !
Indian” Ramo Samee, who was said to string beads in his mouth while
turning rings with his fingers and toes, and the Japanese artist Takashima,
who manipulated a cotton ball with a stick held in his teeth—convinced
19th century Europeans that juggling could be extraordinary show busi-

ness. !

36. According to the author, juggling can be very attractive when . 36. [KRIC [®R]EWE

! (##] XPE—BRRET
1 R REDNBIREN,
' BELNNTRI—-BRH

A) it is simpler than a game of catch

B) its motions are simple

C) more objects are added to the game S TBYFTS, HRGE

D) its objects are common : MEENNEETUREE
: —TTSIAANERNTE, B
j HEWZRETERUBE
' 2,

37. The evidence that proves juggling has experienced a renaissance recently ' { 37 (¥RID [%REMH
[W47] EERTFERRBX

iothat 1 swerr.a-sennr
A) the game is played in the street : HHEEASR . ADRE,
B) the game is an ancient art ; WEBHBEBHEEEK 5
C) the game is played by amateurs : B—aZZARRTIER, -

D) the game is very popular .

38. Judging from the context, the word “jongleurs” means __ . ¢ 3. [¥X]B
A) the people who juggle in the street 1 [#ﬁ)ﬁ]&(ﬁi‘lﬂﬁ
B) the wandering minstrels : DRI IS DB =RPRES
. BN, BRBHNE
C) the game juggling itself ] BRARHARE, MAE
D) people who live in the jungle ‘ EPARIEBIERM jongleurs X

TRREMR, UKD
jongleurs IX 13 7 2 wan-
dering minstrels &
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39. Which of the following statements is TRUE according to the passage?

A) It is the western jugglers that make the 19th century Europeans believe
that juggling could be extraordinary show business.

B) It is the Indians living in the east of the U.S. that make the 19th cen-
tury Europeans believe that juggling could be extraordinary show
business.

C) It is the oriental jugglers that make the 19th century Europeans believe
that juggling could be extraordinary show business.

D) Juggling is originally imported from India and Japan.

40. The tone of this passage is
A) serious
B) critical
C) light-hearted

D) satirical

Task 2
Directions: This task is the same as Task 1. The 5 questions or unfinished
statements are numbered 41 through 45.

You ask how to start a business? Here is an example.

David Dawson, a serious mountain climber, was dissatisfied with soft
iron pitons(# &), the only ones he was able to buy. They lasted just one or
two climbs, and Dawson wanted to replace them with “chrome-molys” (%
84 &), which were harder, stronger and longer-lasting. Some climbers made
them for limited distribution among friends, but they were not commercial-
ly available. So Dawson started Dawson Equipment Ltd., a purveyor (& 7p
) of climbing equipment, as a one-man enterprise in Burbank, California,
in 1958. He had no plan, no management experience and no advertising.
He worked in a shed using a hand forge purchased with $ 800 of capital
borrowed from his mother.

" What Dawson did have was a knowledge of the kind of equipment
that he needed in his own climbs, and a sense that serious climbers would
follow his lead. Currently Dawson Equipment is thriving and produces over
200 products.

Business opportunities are more than ample today for the simple reason
that many consumers are dissatisfied. Dawson’s business started from his

being a customer not liking what he bought. I suspect that your business

QTSSO SR SR AR R ST ST ST AT S

39. [BRIC [%5]HKE
[##F] XPRE—BRRRE
FOENBEANRERER
TAELHRMNARERE
EBRANEETYNRRT
¥, 3% C), DRZFHRA,
X4 imported B E18 , 1B
110 jugging, XRBWNBE
R,

40. [BR]C [HR]EHA

(B INPNERIESRE
BHMRE, TIE 4000 F
HERNZRRWE 4 000 F
FENZAR, A renaissance
BANNZEH BA—T
REBREERE, BER
BEENRBE-ZAER
NEE.

[RR)EXTEEELEE,H
AR A EASHBERELE,

[REER] 4% KA,

AR DNITE, T L
FETHAREAASHAAE
mIRHHHERLF,
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will begin that way too. You know what you want to replace, improve or |
change. So begin where the tool breaks, the service slips or the shoe
pinches. :

41. Dawson was dissatisfied with soft iron pitons because 41 [FRIC [K)ATHE

A) they were too soft to bear the climber’s weight (W47 ] TopitEfReE—RES
B) they were the only pitons he could afford to buy : AARAGAEER-AR
' WEBRERT,

C) they could not last long !

D) they were made of iron

42. Dawson’s example shows that a business starts . Q. |FR]B [E&IREE

A) with a moment of sudden realization of inspiration (W47 JX U ERRERTN
B) with the knowledge of what is needed ] RAEECHRUPRBH

AMEMES, IXURMBHEE
. BLERBTHI, B B). A)
D) when you have the sense that you are setting a trend ‘ FisHERANN S MELF
E-THOTYE, FENE;
ORRE—RKIBA;D)AR
. RABECERRS 2 LR
b RRFE-THOEY, SX
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C) after you have climbed some mountains

43. Which of the following statements is TRUE? Dy BEERIC [FR)EEER

' (W#7] BRELDHF RS
D ANERREOARF LD
' BRERIEN—TFHEH

A) There are less opportunities today to start a business because customers !

are always dissatisfied.

B) There are many opportunities today to start a .business with a simple . BOSHREHET 18
reason. f 7%, AN ORBRESHEE.,
C) Customers’ dissatisfaction means you can start a business to satisfy
them. :

D) Never start a business if customers are dissatisfied.

44. “I suspect that your business will begin that way too.” in the last para- . (ER]C [E&)INEEE
graph means “___." ! [ 47 Jsuspect — 3@ 2178
A) 1 doubt you will start a business in the same way RRTHNTEERRER
B) I don’ t believe your business will succeed if you start that way I R HAX TARES

C) I think it is likely you start a business that way : XEHE, UNHER.

D) I have no idea if you will start a business that way
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45. Which of the following can best express the main idea of the passage?
A) Never be satisfied with what you have.
B) Start a business as a customer.
C) It is profitable to find fault with what you have.

D) To start a business is to make a fortune.

Task 3
Directions: After reading the following material, you are required to com-
plete the outline below it (No.46 through No.50). You should write your an-

swers briefly (no more than 3 words) on the Answer Sheet correspondingly.

Overhead bridges are found in many parts of Singapore, especially in
places where traffic is very heavy.

The purpose of these bridges is to enable pedestrians to cross roads
safely. Overhead bridges are used in very much the same way as zebra cross-
ings. They are more efficient although less convenient, because people have
to climb up a long flight of steps. This is inconvenient especially to older
people. When pedestrians use an overhead bridge, they do not hold up traffic.
However, when they cross a busy road using a zebra crossing, traffic is held up.
This is why the government has built many overhead bridges to help pedes-
trians and to keep traffic moving at the same time.

The government of Singapore has spent large sums of money building
these bridges. For their own safety pedestrians should be encouraged to use
them instead of risking their lives by dashing across the road. Old people,
however, may find it a little difficult climbing up and down the steps, but
it is still much safer than walking across the road with all the danger of
moving traffic.

Overhead bridges serve a very useful purpose. Pedestrians, both old
and young, should make it a habit to use them. This will prevent unneces-

sary accidents and loss of life.

Topic of the passage: 46
Overhead bridges are to make the pedestrians able to 47 .
Compared to zebra crossings, overhead bridges are 48 ,but 49 .

When using the overhead bridges, the traffic will not 50
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46. | ¥ % Joverhead bridges
47. [ % Jcross roads safely
48. [# % Jmore efficient/safer *
49. [ % R )less convenient

50. [% % ]be held up




